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@ to=EAe 7IF00: It ~ toRHAL
toR AT 22| TR MO ZL 12 ABaliA 715801, R
ZIF0{'2t Sict,
It’s boring to play alone Xt = A2 X[Fsich
71501 e
It’s great to see you again HE ChA| EL| 4% &L
P I TE
It’s my hobby to solve crossword puzzles AXIZEO|= L Folo|ck
71501 xIZ0]
= UXIZE toRFAIZE FOY M= 7150 1t2 088 2Y2E M= 20| of YA o|Ct,
HAES El= A2 E2 4210 OfL|Ch

toR AR STAE = O FOHZ MU 4~
It is not a good idea to take a bus

= To take a bus is not a good idea
= Taking a bus is not a good idea

@ toRFAL 2|4 Fof: for + S5
toREAPL LIEIUE SEiQ| FHIE toR-AIL] 2|ofd F02t1l 5t toFEAL 2
olo|d FO7t 2| 02t UX|ot= R 2| FOE M= MX| =Lt
It is difficult for me to speak in English L= S0i2 Zsh= A0| o&ELCt
L to speak?| o|0j4
He baked cookies for his children to enjoy J= AtAle| ofolS0| & 4 JUEE FIIE 7RIC
L —to enjoy2| 2|04 F
I’m glad to hear that 0 S SOL 7|t
L to hearel ojojf Zoj= |
HZI5H), polite(oll2l HIZ), rude(RaI8h, nice(Z2), wise(81ESh, generous(ZCish)
20| Aol MEO|LE MAS LiEt= F8AUE U= ZR0ll= 20|49
W7t 2E EokE A2 {5 0|ULCE
Susie0lZ| stz WHS 712X SO TO= TI-SHILL

toR-AL 2ol kind(Z1E8H, honest(HZ!st
careless(832[5h), stupid({2442), foolish(D|23h) &
OlE Tof +2X7 0= ALY,

TOIE
It was nice of you to help him
It is kind of him to teach Susie how to swim
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1 Itis refreshing goes jogging in the morning. —

2 It’s a lot of fun learned how to make a cake. —

3 Was it necessary open all the windows? -

22 ojujo| 2HO| EEE 1O AIKSH: SHOE HIY ML,

1 To make a new friend is not easy.

2 To walk on water is impossible.

3 To become a fashion designer is my dream.

—ltis angry.
2 U7t 38 FAEE A2 RAIRICE (you, it, of, was, rude)
- to ignore him.

3 O] M32tA= U7 MA7(0f &tHsict (me, perfect, to wear, for)

— These sunglasses are

Cy

Paul / honest

Jake / impossible Susan / polite  Jenny / dangerous

1 ltis wake up early.

2 ltis greet her teacher.

3 ltis cross when the signal is red.
4 ltis tell the truth.

EBS . . .2
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- refreshing &3t
-how to ~ot= &'
-necessary Zest

B

- make a friend 2=
AFHCH
- impossible 27Kt

[

C

-unusual E&

- rude S[st
-ignore SAlstct
- perfect &5t

D

- polite ollel HIE
-dangerous ¢t
- honest &=lst

- greet QIAksiCH

- cross Zg Audct
- signal A&
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Grammar (2
@ =SAHEAD+enough + oS HAL

FHEAK
m £2C,

£AD+enough + toR ™ALL= ‘~al7|of| S&5] -

Jane is not old enough to drive.

Is the kid tall enough to ride the ride?

| didn’t study hard enough to answer all the questions

right.

FSZAHEAD+enough + toREALE "so+ &

Mom cooks well enough to publish a cookbook.

— Mom cooks so well that she can publish a cookbook.

We arrived early enough to catch the bus.

— We arrived so early that we could catch the bus.

© too + HSAHEAD + toSHA}

"too + HEAMEA+toFEALE ~st7(of LR S-S &

ron

They are too excited to sit still.
Mark spoke too fast for me to understand.

My little sister is too short to reach the shelf.

"too+HEAHEAN +HoE™ALE "'so+HE
| was too full to eat the dessert.

— | was so full that | couldn’t eat the dessert.

Jessica is too young to carry the suitcase.

— Jessica is so young that she can’t carry the suitcase.
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Grammar Practice (:)

A CIE &< 2ol
1 The bag is
money on a bag. (expensive)

2 The shoes are

(comfortable)
3 Jina was

4 The questions were

Z0{ZI 012} enough EE to0S MA 2XES 2HMSIA2.

to buy. | can’t spend that much

for me to wear. I'll take them.

to go to the movie. (well)

to answer. | got them

wrong. (hard)

B CHS 0%l BoiSS B2 BI85 E-S 2FISIAR.

1 Fredis

the exam.

(enough, pass, smart, to)
2 This computer is not

(enough, carry, light, to)

3 The puzzle is

(too, solve, difficult, to)

4 'm

(too, go, sick, to)

C ChS 2& 21 222 ofdol 27 IX AA|2,

1 The shirt is not big enough fitting you.

—

2 This coat is to wear too small.

—

3 Heis young too to see that movie.

to school.

walk home.

2 0| FAE OAZ|off B3| RZX] G4t

— This juice is

drink.

3 U= Ml E= 22 5=35l 717H 3

— Are you

EBS . . .2

reach the shelf?

pl=nly BHM 6% .

- spend (£)2 Mot
- expensive HI#
-wear (R §2) ¥tk

225}

- well 74Zst

B

-exam Al

- light 7tH2

- solve (BHl 528) 2ct,
S5t

- fit (Sof) Hct

-reach Zrct
- shelf A8t

UNIT05 o2 3At @ « 6



N Writing 1 Y,

A LA UXSI=E FOIT! HOISS 0I8310 TS Ao,
1 MXIZIZ siCi U= ollel7t 8L (rude, cut in line)

— It’s

2 O|A0| U7t Hoi AlZtoll 2= 20|oF. (the book, read)
— This is in English class.

3 xI7t AHRloIM SR £ U= WOl ALKR? (any way, study)

— Is there in Spain?

4 1 #AN|1SS sttt = £=53UCE (smart, solve)

— It was those riddles.

5 M7t UF oYM 2HE 7t QIRICE (spicy, too, eat)

— The chicken wings

6 ASEES T 0PIE 7 BIE S8L3UCE (brave, enough, save the baby)

— The fire fighter was

B f2[2nt UX[GIEE F0{T! TH{SS HIEA| HiEst 22 2HdstA2.
1 =X MFS0l XMF2 oIt I= SiHsict (wise, save, of, him, to, money)

—ltis in a piggy bank.

2 2= IO Z7(olM o] £ U2 THE 25| 2L (well, enough, win, played, to)

— We the dodgeball match.

3 Lt= 4% HHitA] A4S 521 L2 =~ giC (so, go out for a walk, busy, |, that, can’t)

— ] am

4 JOZ of|M|0IE M= A2 EX| 2Lt (an essay, to write, in English)

- is not easy.
5 Andy= 22|E 12 EohM 22|At & 4 Ut (so, well, he, cooks, that, can)
— Andy be a cook.

6 Lto| OltiX|= oiHZ|IAE Lol 2F THF HASIAICE (healthy, to, climb, enough)
— My father is Mt. Everest.
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Writing 2)
-
A CHS O3S 1, 0TI H31S 0|8510{ (E7])2t Z0| 2EE MA |2,
ChN
a great pleasure / hang out with friends
w — It is a great pleasure to hang out with friends.
1
@ wise / save your allowance
\_\_/J
A O g'*?
2
not easy / take care of a baby
3
rude / talk loudly on the phone
B Westwood S2¢ ZZ0|Ct. F0{Z! E31} enough E= 1002 MA (E7])2} 20| 2ES 2AMSIAL.

271 p
The giraffe is tall enough to reach the high branches.

(tall, reach the high branches)

1 The cheetah jumps
(high, catch a bird)

2 The elephant is

(big, swim in the pool)

3 The baby deer is

(young, walk well)

UNIT 05 to2gA} @)

EBS . . .2

HA‘I 1755

63



\

Reading ‘A)

e oA - 18 |

s N
Pain is a signal from our body that something is not right. It can be due
to a physical injury or some kind of disease. Most types of physical pain
can be treated with pain relievers. Pain medications are used to treat mild
pain. They can also be used to reduce fevers. If ~
' pain lasts longer than a few days, (to consult, : @
wise, is, it, a doctor). There are also alternate 2
methods to reduce pain. These include heat for sore muscles, ice
: \. packs for recent injuries, massage, and relaxation techniques.
\_ J
1 What is NOT recommended as an alternate method for reducing pain?
@ heat @ ice packs @ massage
@ medication ® relaxation
2 2| LE Il RES HIZH| HHESIAI2.

Words and Phrases

pain @ 5 signal @ A5
injury @ £& disease @ 24
medication @ X|Z2f mild @& et 7HA2
consult ® &&sict alternate @ i<
muscle & 2= relaxation @ J4

64 - EBS =3} 2 H0{ 2 Main Book
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due to ~ =0l
treat ® x|=s}ct
reduce ® &0|ct
method @ 2

technique @ 7|4, 7I&

physical & AIx|2|

pain reliever ZISH|
fever @ €

sore @ %A=, 02
recommend ©® FX5ICt
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The desert is not an easy place @
There is little water ®©

their body away from the heat of the sand.

them to drink. Also, they must
deal with extreme temperatures. Many animals in the desert simply
stay out of the sunlight. They spend much of their time in burrows
and come out at night to look for food. Some birds leave the desert
during its hottest months. Desert squirrels sleep during the hottest

months of the year. Other animals have adapted to the heat. Camels have long legs to keep

animals to live.

1 22| MEo= T U2 A2?
@ Looking for Food in the Desert
@ The Hottest Desert in the World
@ The Hottest Month in the Desert
@ The Beautiful Environment of the Desert

® Different Ways for Desert Animals to Avoid the Heat

2 K29l YIZt @2 OOl SE2E W2 27

Words and Phrases

desert @ At2t
temperature ®@ 7|2, 2=
burrow @ =
environment @ &t

simply ® X, Ekes|
adapt to ~oil &3asict

EBS . . .2

deal with ~0il CHXSICE ~& CHECE

@ on ®in

extreme @ 35t2|
stay out of ~& mlsiCt
camel ® HE}

UNIT 05 o5 %AL @ G5
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Vocabulary

BAE UEE -1y
deliver & uisict
L|XHS tiEoiCt: pizza

injure B 242 ot 2AS sict

79| 5{2|12 CkxIck his back

W= =k bread

MZ2 #M8Z L5 a new

recover & sl=3stct

ZZ0i| M BoqLich: from
shock

GAIE BEE -cy

pregnant EIETE

ISt M= women

frequent @ =2, wigist

O gIHsiX|ch become more

private @ 7§el g2l AFQl

JHel 24l g bathroom

current @ sixiel, E8==

el ths3&: the president

efficient @ s&=2!

FEXQ A2 an system

EBS S8 72 Z0{ 2 Main Book

EBS . . .2

f

delivery @ s, Q=

H<SHI: charge

injury @ 24

o 2 aleg

bakery = 3z, xjats
2E0[9| gt XjxbH: on
the corner

discovery @ 2

T7|o| & the of
electricity

recovery @ si=

ZH 2= an economic

pregnancy @ Al

QM HIAE: g test

frequency @ dix, gig
gi=% the order of

privacy @ Atgt
ArdErE HSoiCt: protect one’s

currency @ sat 58
Q3= Yt earn foreign

efficiency @ 284

=2 22 fuel



HAIE Ol=EE= -ure

©

HES ok the window
press & +2Ct

HES +20t a button
expose ) ={LiCt

SHE =2Uck a scar
create ® &=sict

x2S AESick jobs

fail & Amstct, (AZof) Zoixict

A0l HO{X|CE: an exam
Voca Checkun IR e

A LIS Fol= R2LUE, 222 HoE MAL,

1 delivery

2 recovery

3 currency

4 closure

5 exposure
B CtS HiIZio]| 222 2h3 20| O] 71E MG

1 ahead (H2| 24

2 a historic (SAPE] Bt7)

3 of use At Bz

4 the right to

5 the cause of business

closure = m|

SO H|AH:

of the factory

pressure & gt =
12 high blood

exposure @ =& =2
SHof| =& to the sun
creature @ 4=
QAN 2 WEA: a

outer space

from

failure = Ay

AWz ELICE end in

el
>
15
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e o
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1

0x o
Mo JZ Mo

(ARei2tol| chet #2)

(AFd Am{Of FQ1)

[

A1HIE Q= 2 3= 3 33 S8 44 5 =5 =2 6 bakery 7 pregnancy 8 efficiency 9 pressure 10 creature

B 1 injury 2 discovery 3 frequency & privacy 5 failure
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